BBRHE

=

5529-22246797-1-20092683157 &
202042105028

® | E R TSN O/ N R ER AR L RRES 5 @Z T
/-
{RHEE A H 20204E09 A 25 B & B g
B’ K 4 5 BRE
" £ % 4
BRELE : 9/25 ’ FAXOZMQMMOH
BERR S TEEEZZTELZRBREEBREZ FTROBY THENZLET,.
% B E A | mein |eETRE SeE s B OE B RBER | CETIRE| LiE
i (ppm) (ppm) (ppm) . (ppm) (ppm) (ppm)
_1EPN Ly | 00l = | slrevevyroy g | oo | -
277 yFhyy ey | oo | - | alyewvasvr gy | oo | -
3T VaANTEY mtey | oo | = | wreszeyr | g#ed | o0 | -
dress7vE | gwes | o 5 ©rEYFYy  BHEF | 00l 0.1
slreze—1 Jmmer oo | - | s0zmaryax BT | 0.01 0.01
8|7/ FAbrEY __;ﬁﬁﬂflﬁ 0.1 70 517 ul7=4E)L ®mHEd 0.01 f -
| drrsvr ‘ﬁ&&f‘ 0ot | 002 | s2senrevsaeo gEy | oo | -
C8lFIAATBA  gmed 001 | - 53| =@ & @=L (IPN) gy | o1 2
9 TTFre—N BEET | 0.01 ! - 4|7V CfHEr L oo —
d?»FJ/&Ur4»bJ/ BEES | 0.01 0.06 | 857 //AA(CYAP) HHEF | 0.0l =
;L{Z##%ty BmHET | 0.01 - | s ¥rur | BHES | 0.01 0.05
| 2y TaFtTy mEET | 0.0l - | stivz=bzzriny | ey | o.01 .
BA4FavEy gt | 01 | 50 | s UsuvAyh g 001 -
14/ A Tk A (IBP) | REET 0.01 =) 59 yyu7r by f pur | oo =
ﬁ(iﬁanfgﬁ___ B 0.07 | 0.7 60! V7 m_=sL B 0.01° =
164 IRV IF Y et 001 | - 61 PAMNK b BT 0.05 0.5
| VA& 770 _ | BlEF | 0.01 o 62N hyY B 0.05 0.5
B A FExHFILT BT 0.01 = 83| Ry TTFN | mEed 0.01 - |
19 y=ajJy—rp BEES | 0.01 = 64| 7 =/ 3} = | e 0.0t | -
20| =AFaHNT BmEET | 0.01 ~ 65| 7MYy | BHET | 01 | - 2.0
2l =F 7 u¥—Fh MmEES | 0.01 = 66 > 7NT7=FIF o #BH#d . o001 0 -
22 TFFa—n | g | 0.0 - 61 UTNT =gy weE | oo | —
23| b E g | pwes | oo = | eglvoarxny RS | 0.01 -
24 h¥vALTRY e | oo | — 69 v 7 maFY T ! ]
| 25 xh7=vTuysA BmBET | o0l | - 0 v 7av=p S | 0.01 i
26| PUHF= R BT 0.01 | T~V A R v | e 0.1 _J_ 60
FUENE YV | s 0.01 0.01 72| % PV (CAT) L EmET | 001 | — |
ARy | mweE | o0 - BYAaFS—n l@mﬁi_,am'i_ol
2 AFHFCTEARY | #HET . o001 — T4 TAZAR) ﬁﬁﬁf__jﬁl | =
B0AEHIA_ | mwed | o0 | - | 15UAFFIE RRHET 0.0 -
31*#2ﬁ3+7—w7vw@ﬁ[ﬁwﬁf 0.01 — 6| PAPT—F | BEHET 0.1 | D"
B2 AAPT—F mlﬁ&ﬁf 0.1 1 MPALEALZ g@ggﬁj LX) S
BAYFA by | e | 0.0 —~  |slerryy BEET | 001 E
gﬂﬁfﬁmann___ Iﬁﬁﬁf' 0@1_w' — 7dv77»f71y BRHET 0.01 —
35 H T VA b pEEF | 001 | - 80 ATy ET =y meer | oo | —
36| A1 13y )L (NAC) B 2 | silg—rsn ey | oo | - |
BUINT = bTTVEFL BREET 0.01 = | &FAaT | ARHET | 00 0.1
BBIINBANLT 7 | BHET | 0.1 1 | 83 A hu TS | 0.01 =
9 HARTFY mHES | 0.05 | 0.5 84 FTsuZY K | BHET 001 =
0 svanyrassmusranyrersye | RHET | 001 - | — 85 F7AREFL | REMET 0.1 2
4%/ 7 7 32 (oY g | 00 | — | slFaseany | gwed ool | — |
| w2y TE L;mﬁfl 0.00 | 00 | s Fv=vaATOLAFA I#mﬁf _0.01 s
B r3irmy I mier | om — | sFTAFIFK e | 001 -
I LIESBAFN 1.9 01 | % 89 7 k7 ad Y ey | o0 =
45y aFT=Uy ey | o1 | 15 90|57 b5 Uk B | 0.00 -

[BEEIRERRED THRHEET) FERETREREZRLET,

HIEET AR, %ﬂu%%miﬂ%§1§< 26>,
EEESEONLOIT—EEE (0.01) NEEINET,




%529-22246797-1-20092683157 &
20204105 02H

% B IE B HBRER | EETRME, HE#E = B o B RBFER | CETIRE| EEE
(ppm) (ppm) (ppm) (ppm) (ppm) (ppm)
slF=nsa—n BHET | 0.0 ~ |47 Far=vr BEET | 0.1 1
92|77 aF V=N B R 0.1 10 g?l 7I¥RNMTaY R 0.01 0.02
B|FIFray BHET 0.01 — 148 75 A FENL BHET 0.01 .
UFTT=LET K e | o0l - |uslzrrsveya mHeEd | 0.01 -
95 777 aXTA BT 0.01 - 150 74y K BT 0.01 -
9% FTINEY BEES | 0.05 0.5 |Isl|7Avd%y=s B 0.1 9
91| T IRy RXu B | 0.01 — 152| 7 Y F—b B3 0. 05 0.50
B|FAsA ML RGRTRA N | BIHET | 0.0 ~ |18z rs=a wHHEs | 0.01 - |
W RITIA — BT 0.05 0.5 154| 7 LR Y F— k BT 0.01 = |
100/ F Y TP AR BT 0.01 0:1 185|7/Vv7 =/ 7Ry B 0.01 -
101 Y25y —n | BHET 0.01 - 156 734 FH T BREET 0.01
102/ Y73V — BHET 0.1 3 57| 7 VvFZ7 7 a— i dsngcns 0.01 -
103 RV 75 Y BT 0.01 0.05 |1587nsrmsxX Bt 0.1 5
104 FY ZEFUR Fa ¥y B | o001 - 159, 7 3 Ky BEET | 0.01 .
105\ F Y& > MEHET 0.01 — 160/ 7" @ AALHRANT BHES 0.01 -
106| V7 mR R A FL BHET | 0.1 2.0 | 161 FuFAEx wHET | 0.02 0.2
07| M7 =T R BHET 0.1 10 162| 7 r/ OLEy b BiEd | 0.01 —
108|F7u3 K BHEd 0.01 - 163| 7oy —u BHES | 001 -
109|=FEFh BRHET 0.01 = 164 o P I K i dinp o 0.01 —
103787 h3Y—n BT 0.01 - 165 70 b Fudy REy BHET 0.01 -
HijFaxy A bty B 0.1 15 166 727 =/ &R RHES 0.01 —
L2 EFAE )= | s | .01 0.05 | 167|7m~FY—p RHET | 0.01 -
137 = FY > BT 0.01 0. 05 168/ 7 u< i BHET 0.01 =
14|¥Trnx oLy e | 001 - |io|7mAryy BHRET | 0.0 -
15|53 7a=n BHET 0.01 - X d=a REES 0.01 —
us|rsvysxvr=v BHET 0.01 = 7 ~FHaFS—n BT 0.01 -
ISy AT r T A 0.01 — 12| ~FVFT S 7 R WY 0.01 =
U8 KT TN T =TT BHET 0.01 — 113 ~FF 7 un BEET 0.01 =
119 By F~y B 0.01 — 174/~ 2 R Y v B 0.1 3.0
120 ) 7Y K B 0.01 — 175 Ry vrymay BT 0.01 -
121 Y FFIAT BHEs | 0.01 = 16|~ AT AFA BT | 001 =
122/ Faxy Ty BEET 0.01 - T ReFTRYAATA Y 7an | RS 0.01 —
23| EYITT=v BHET 0.01 — 18| Ry FFEF M 0.1 20
124| Y 3 ) Sw s AT BHET 0.01 = 179 R F 4 AZY o BT 0.01 0.05
125/ 'Y SIRAAF /L wHEET 0.1 1.0 180 b FH BEHET 0.01 -
126/ LR Y BT 0.1 1 BNV TSHINT By 0.1 1
127 Fa¥al L s 0.01 - 182| Xy 7 LE— | [reencns 0.01 -
128/ 7 7 ®FH P B 0.01 = 183|RAL Y N RS 0.1 5
129/ 7 xS Y ' BT | 0.05 0.5 | 184|RAFT¥—} | s | o.01 0.1
130| 7 = = b = F 4> (MEP) [ A shcac 0.01 = 185|= 5 F A4 BHET 0.01 =
Bl7=/)%F=n BEET | 001 - 186|I 7 uF s = B 0.1 1
132|7 = ) FAINT BT I 0.01 = 187 A # I KRR B 0.01 =
133|7 = / 7 17 (BPMC) BT 0.01 = 188/ A5 5% ABURAT = /%44 | BHES 0.01 =
134/ 7 =Y K B 0.01 — 189| A F & F % (DMTP) [ Jasnca 0.01 0.1
135|772 Ry BT 0.01 = 190\ A h=2F Y —i BT 0.01 =
136| 7 = > F 4 (MPP) T 0.01 - 191 A I/ A PEEY BT 0.01 -
137| 7 = > h=— | (PAP) BRHET 0.01 = 1922 +F7a—) RS 0.01 =
138| 7= FFHFIF B 0.01 - 193|4 h YTy B 0.01 —
139| 7 = XL b—F [ dsrhench 0.05 0.50 194| A S=" Y A BT 0.01 -
0|7z ErFA—| By 0.01 = 195| A7 =F ¥y b RHET 0.01 —
W\ 7=v7ars/—n BHES 0.01 — 196| A 7=/ | BT 0.01 -
142 7=z 7aRpy v By 0.01 — 197|E Y % —p By 0.01 —
3 7HF54F Jidsshcnc 0.01 = 18|V =2y BHET 0.02 0.2
44|75 7 o— BT 0.01 - 1947 =Xuy BT 0.01 —
45|72 IFA B 0.01 0.05 200/ L' F L mes | o003 0.3

(FEIRE-RRO TREET) TEETREREZRLET,
EEEZRS., FNMMEORBREE<ICS>TT,
HAEENEO S O —REE (0.01) SEESHET,




